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 – 1, . 21 350 0,250 1100 0,364 66,8 – 286 618 103

 – 2 21 1000 0,378 1050 0,550 44,2 – 330 550 74

 – 3 28,5 350 0,285 1050 0,420 57,9 41,1 384 833/637 105

 – 4 50 350 0,325 1050 0,473 51,4 80,5 470 988/663 105

 – 5 50 350 0,010 1050 0,789 30,8 48,4 280 751/589 71

 – 6 98 – 0,337 1050 0,490 49,6 106,1 . . 1100/671 106

 – 1, . 21 0 0,150 1280 0,250 97,3 – 290 840 147

 – 2 21 1000 0,316 1220 0,526 46,2 – 333 688 86

    

 – 7* 50/28,5 350 0,285 1150 0,415 58,5 41,5 152 584/417 92

 – 8 98 – 0,332 1100 0,480 50,6 108,2 . . 1011/460 122

 – 9 98 – 0,010 1100 0,800 30,4 65,0 . . 686/353 65

 – 10 21 1000 0,250 1250 0,369 65,8 – 193 395 91

 – 3** 21 1000 0,074 1220 0,123 198,0 – 693 671 243

 – 4 21 0 0,130 1350 0,213 114,0 – 384 411 142

 – 5*** 21 675 0,210 1350 0,346 70,2 – 240 275 89

 – 6*** 21 675 0,030 1350 0,524 46,4 – 159 200 61

 – 1 28,5/24 675 0,030 1300 0,569 42,7 13,8 149 247/149 59

*     R = 50 %,   R = 21 %,     
2
 R = 28,5 %.  
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***   ,   .


